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No supplementary answer hook will be given to any candidate, Hence the candidates should write the answere
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All the parts of one question should be answered at 0¢ place in the answer book. One complete question should

not be answered at different place in the answer book.
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Attempt five questions in ail, selecting atleast one que;"t'it'm from each wnit.
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L Define with examples. [Each carries equal marks]
{m) Sampling unit
(b} Sampling frame
(¢)  Finite population correction
{d) Random sampling
(e) Sampling error
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2. (@) What is eample survey % In what respect is it superior to a census survey ? g
(b)  Discuss the basic principles of a sample survey. /4
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Describe probability and non-probability g, 1inf with the 45
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E:; Define accuracy and precision of an estimat, Fil
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4. Show that in SRSWOR -
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UNIT - I 8% 111 )
5. (a) Give essential characteristic of stratified randor qampling. ' [6+4/7+6]
(b)  Obtain the optimum total size of the sample and its allocation in various strata when
(i) total cost is fixed
(i) the variance is fixed and the cost of surveying a unit differs from stratum to stratum.
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6. Prove that V[;n }R = Var(?gt )Pmp - Vart?“]:\'ey'
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UNIT - IV/ FT§ - IV

Obtain unbiasE_d estimate of the population mean and compare its
dﬂm B&IIIPI-mg egtimate. [10!13]

WMWWWIWEM@WW

7. Explain systematic sampling.
efficiency with that of a simple ran
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8. (1)  Show that

[6+6/7+6]
= - 12 .
Var(vy,) = 21 8T (o 1))
SE nk n fﬁcient bey
Where pia intra class correlation “’f? advany, Ween the units of the same gystematic sample.
()  Explain cluster sampling and give it8 Beq.
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festimﬂnal.:l © Also explain ratio estim Fi : -
o  tioe stiatoy 9 ator. Find Bias of ratio
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9. What 1s objective of ratio meth:.‘)d. ”
estimator. What will be upper limit
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o that wbe? B the population regressi iont
0. Inregressi thod of estimation, sho¥ , pgTession co-efficient is known,
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